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a 6X + 4X b. 3X- X+ X C. 3x + 4y - 6x
d.  8mn+3nm+3m e 5ab’ - 3a’h + 2b%a f. 23 +3yx+2xy- 5%
g. g+§m— m h. g-—+5_2k-% , g+m?2_g+m2
j.  (2x+5y)+(4x- 8y) k.  (}®+5x)+(9- 5)

(3x+2y- 52) + (- 3x - 2) m. (3- x2+5x) - (6x- X))
n.  3x- (-x -2y 0. - (3a+5a’ +5a°




2.

Simplify the following algebraic expressions:

a (4a) (5h) b.  (4a) (52) (- 4a) (- 5)
d. (2a) (- 3a) (4a) e (a) (@) (4a) (2a)
g (ab’) (ah) h.  (5ab%) (- 2a’h) (- xy) (2%)
. (O k. @) @) a+a
m. (-X) (-%) (-x) N -X- X- X (- 2%)°
p.  -2X- 2x- 2X a 3x%y 48p°c®
6xy° - 8b°%
(2a")(3a%) L 2x(- 15xy*) 15x*y®
12a? 24x%y (- 3xy*)(5x°y?)




3.

Simplify the following algebraic expressions:

a 3(2x+3y) 3X (2x + 3y)

c.  3xy(2x- 3) 3 (23 - 3x)
e 3C(2¢- 3X) +2x(2¢ +5) -4 (4x - 5y)

h. 3(2x+3y) - 4 (4x- by) (4x- 5y) (- 2y)

3xy (x* - 2xy)

3 (xy- 5X) + X (y- 2)

%(x+y)+§(x- )

X 3
—+—(2x+
2 2( )




B A

a 15+2x=35 4- 3(x+2)=13
c —y-10:3 ﬂ-3—5
2 5
e 2(2a-7)=10 2,
3 x-1
g 5x-3+2(x-1=1 x-2(3-x)=5
X x+1 Xx+1 3-2X
—+ =1 E—
2 3 3 5




5. $100isdivided among David and Mary so 6. Find three consecutive numbers so that their
that David has $24 more than Mary. How sumis42. RBL,
much does Mary get? 3156 consecutive
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N [ f arectangleis 64 cm. If the
, B HEHI[HPUESRE - Z. | 10. The perimeter o . :
9. %?ﬁ?iﬁ;ﬁ)ﬁfg?ﬁ[i{ﬁ J,;EJEB[%IJ E A ARG length is 2cm longer than the width, find the

3 width of the rectangle.
BT TRL R A 2" TN ARHPVRSRER -

rﬁj i perimeter

=17 rectangle
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5a = ( ) + ) = ( ) + )
3ab = ( )+ ( ) = ( )+ ( )
at2b= ( )+ ( ) = ( ) + ( )
2a- b= ( ) + ) = ( ) + )
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Lol 20 pokiase o o b Ty 9 T B [SBRIORRARS ;,:
1. (a b)) . (a b) = 2a

2. (a . b)) . (a b) = 2a +2b

3. (a .. b)) . (a b) = 2b

4. (a b)) . (a b) = 0

5 (3a . b) (a 2b) = 2a +3b

6. (3a b) (a 2b) = 4a +b

7. (3a b) (a 2b) = 2a - 3b

8 (3a .. b) (a .. 2b) = 4a -Db

i 2.4 (Lots A1 A )

Gl

%Etﬁﬁﬁﬂ (axb) xc = ax(bxc) "J[liik,%’@:,ﬁ # (a+b)y+c=a+ (bt
TR 37476 [ SRV A HATRT 3+4+6 R SR R
1 3746 = 3 24=72 1. 3+(4+6) =3+10=13 w

2. (34)°6=12"6 =72 2. (3+4)+6=7+6 =13

R84S A o SRRL R A FYE SR~ AR o SEIERL TPk R R o
I*leﬂhﬂjﬂﬁ RN R g FREPE PRy R ) 2 Hﬁidﬁ

R (@axb)xb = ax (bxb)=ab’ B (@+b)+ b = a+(b+b)=a+2b
TP axb =bxa ELEIE a+b= b+a

Ml | CRBTRORERR » Pylle 3 A1 5 AR > [T CER | fE ) CRETRORERR - Ryl 3 A 5 AppYAL > TR
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3°5=3+3+3+3+3 =15 3+5=8 ¥ 5+3=8

5 3=5+5+5 =15
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9 (3a)(5)=5(3a)=(3 5)a=15a

R FRBGAR I IR P11 gty
[y 3+b+2=3+2+b=5+b
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1. 8x+4x=12x 2. 2(x+3)=2x+3 3. 6x-x=6
( ) T ( ) T ( ) T
() FrfE () FrfE () e
R Rip-: R

4, 3x-2-1=3x-1 5. 4x- 5y+3y=4x- 8y 6. (-1)(x+8)=-x+8
( ) IE ( ) I ( ) I
( ) I ( ) ( ) I
R Rir-: R

7. (2y) () =4y 8. (2y) By) =5y 9. -By-y=-4y
( ) [y ( ) e ( ) I
( ) I ( ) ( ) T
RIp-: RiT-: R

10. (-y)(+y)=0 11. -y+y=0 1 X _ 4

- 2x

( ) = ( ) i ( ) i
( ) TIE ( ) TIE ( ) TIE
R Rir-: R

13. 5x- (2x- 5)=3x- 5 14. 3(2x +5)=6x+5 15. -2(y+5)=-2y- 10
( ) T ( ) T ( ) T
() TrfE () TrE ) i
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AL
=3 ﬁ El Eliv};'i %&%ﬁ(The epitaph of the great Greek mathematician Diophantus)
2ABILEICEE - o BRI S S O

s £2 Tl F o LI EL (S RSP LA o TN R B Y (The Greek anthology) » 4%
iﬁﬁr [*E!( = 1?_5 fﬂ*[ (Dlophantus P AP 2 ‘} G )F[Jjﬁﬁ:&,, o
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Diophantus "youth lasted % of his

Y XEFT W _
S R-L A ERT life.

VAR el TR

‘ oo o ° ! )j\t Fh He grew a beard after . more.
J”rr”ﬁé‘-”*maﬂck‘/v7“’ 12

X gt pZ - 75*;{—&?{’ 1

L= A2 — o BRA AR A i b o After AL of his life, he married.
IEZEABEF j

T ] e A6 Five years later, he had a son.

o ¢ 2 : Al v
FETEHARLE :{ RO The son lived exactly % as long asii [
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